The group G is isomorphic to the group labelled by [ 720, 764 ] in the Small Groups library.

Ordinary character table of G = A6 : C2:

la 2a 2b 3a 4a 5a 5b 8a 8b 10a 100
X1 1 1 1 1 1 1 1 1 1 1 1
2 |1 -1 1 1 1 1 1 ~1 ~1 ~1 ~1
xs |8 2 0 -1 0 —E(BY2-EG3 -EG)—EG 4 0 0 EG)+E(BY 4 EGBGY2+EG3
xXe | 8 -2 0 -1 0 —E(B)—E(By4 —E(B)2-E((5)3 0 0 —E(By2-E(B)3 —E(B)—E(B) 4
X5 | 8 2 0 -1 0 —E(B)—E(B)4 —EGB)2—E(B)3 0 0 EGBy 24+ E(B)3 E(5) + ( Y4
X6 |8 -2 0 -1 0 =—-E(B)2-E(b53 -—-E(b)—E®bBI4 0 0 —E(b)—E(B)4 —EGB)2-E(B)3
x2 |9 1 1 0 1 ~1 ~1 -1 ~1 1 1
xs |9 -1 1 0 1 ~1 ~1 1 1 ~1 ~1
Xo |10 0 2 1 -2 0 0 0 0 0 0
X010 0 -2 1 0 0 0 —E@8)+E®R)"3 ER)—E@8)3 0 0
x| 10 0 -2 1 0 0 0 ER)—E@8)3 —E@®) +E®R)3 0 0
Trivial source character table of G =2 A6 : C2 at p = 3
Normalisers N; Ny Ny N3
p — subgroups of G up to conjugacy in G Py P, Py
Representatives n; € N; la 2a 2b 4a 5a 5b 8a 8b 10a 106 la 2b | la 2b 4a da 8b 8a 8a 8b
1-x1+0-x2o+1-x3+0-x4+1-x5+0-x6+0-x74+0-x8+1-x9+0-x10+0-x11]27 5 3 -1 2 2 1 1 0 0 0 0 0 0 0 0 0 0 0 0
O-x14+1-x24+0-x3+1-x44+0-x5+1-x6+0-x7+0-xs+1-x0+0-x10+0-x11 |27 -5 3 -1 2 2 -1 -1 0 0 0O 0|0 O 0 0 0 0 0 0
0 X140 x2+0-x3+0 xa+0-Xs54+1-X6+0-x7+0-xs+0-Yo+1-x10+0-x11 |18 —2 —2 0 —E(B72-EG"3 -EGB)—EGBY4 —E@8)+E@83 E(@8)—E@8) 3 —E(5) — E(5) —E(GY2—E(B) 0 0|0 0 0 0 0 0 0 0
0-x1+0-x24+0-xs+1-x4+0-x54+0-x6+0-x7+0-xs+0-x0+0-x10+1-x11|18 -2 -2 0 —E(5) — E(5) —E(B)2—E(B)3 EQB)—E@®)"3 —-E@B)+E® 3 —E()2—E(B) 3 —E(5) — E(5)” 4 0 0|0 O 0 0 0 0 0 0
0-x1+0-x2+1-x34+0-xa+0-x54+0-x6+0-x7+0-x8+0-x9+0-x10+1-x11 |18 2 -2 0 —EGB)2-E®(B) —E()—E(B) 4 ER)—E@8)3 —E@B)+E® 3 E(5)+E(5)A4 EGBYy 24+ E(B)3 0 0|0 O 0 0 0 0 0 0
O0-x1+0-x2+0-x3+0-xa+1-x5+0-x6+0-x74+0-xs+0-x90+1-x10+0-x11 |18 2 -2 0 —E(5) — E(5)A4 —E(B)2—E(bB)3 —EQB)+EB)3 E@B)—E@®3 E(5) 2+E(5)A E(B)+ E(5) 4 0 0|0 O 0 0 0 0 0 0
0-X14+0-x2+0-x3+0-xs+1-xs+1-v6+0-x7+0-xs+1-xo+1-xi0+0-x11 |36 0 0 -2 1 1 —E(8)+E(83 E®) —E@B"3 —-EG)+EG2+EG3-EG54 EGB)—EG2-E((5 )A +EGC4 |0 00 0 0 0 0 0 0 0
O-x1+0-x2+1-x34+1-xa+0-x5+0-x6+0-x7+0-xs+1-x0+0-x10+1-x11[36 0 0 -2 1 1 E@®8)—E®)"3 —-EQB)+E®)3 EB)—EGB2-E(5)3 (5)A4 —EGB)+EGB24+EGB)3—EGB"4]0 01]0 0 0 0 0 0 0 0
0-x1+0-x24+0-x3+0-x4a+0-x5+0-x6+0-x7+1-xs+0-x90+0-x10+0-x11] 9 -1 1 1 -1 -1 1 1 -1 -1 0O 0|0 O 0 0 0 0 0 0
0-x1+0-x24+0-x34+0-x44+0-x54+0-x6+1-x74+0-xs+0-x90+0-x10+0-x11| 9 1 1 1 -1 -1 -1 -1 1 1 0 0 0 0 0 0 0 0 0 0
1-x1+1-x2+0-x3+0-x4+0-x5+0-x6+0-x7+0-xs+1-x90+0-x10+0-x11]12 O 4 0 2 2 0 0 0 0 3 170 O 0 0 0 0 0 0
O-x14+0-x2+0-x3+0-x44+0-x5+0-x6+0-x7+0-xs+1-x90+1-x10+1-x12/30 0 -2 =2 0 0 0 0 0 0 3 —-1]0 0 0 0 0 0 0 0
1-x14+0-x24+0-x34+0-xa4+0-x5+0-x6+0-x7+0-xs+0-x0+0-x10+0-x11| 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
0-x1+1-x2+0-x3+0-x4a+0-x5+0-x6+0-x74+0-xs+0-x9+0-x10+0-x11| 1 -1 1 1 1 1 -1 -1 -1 -1 1 1 1 1 1 1 -1 -1 -1 -1
O-x14+0-x2+0-x3+0-x44+0-x5+0-x64+0-x7+0-xs+0-x9+0-x0+1-x12{10 0 -2 0 0 0 EQRB)—E@®)3 —E@B)+FE(8)3 0 0 1 =11 -1 —-E@4) E®4) E8)3 E(8) —E(8)"3 —E(8)
0-x1+0-x24+0-x34+0-xa+0-x5+0-x6+0-x7+0-xs+0-x0+1-x10+0-x12/10 0 -2 0 0 0 —E(8)+ E(8) 3 E(S) E@8) 3 0 0 1 -1|1 -1 E4) -E#4 E(8) E8) 3 —E(8) —E(8)"3
0-x1+0-X2+0-x34+0 xa+0-X5+0-x6+0-x7+0-xs+0-Xo+0-x10+1-x11 |10 0 -2 0 0 0 E@®)—E®"3 —E@8)+E®8) 3 0 0 1 -1|1 -1 E@4) -E4) -E@8 -ES8"3 EQB8)  E@B 3
O0-x1+0-x2+0-x3+0-xa+0-x5+0-x6+0-x74+0-xs+0-x90+1-x10+0-x12 {10 0 -2 0 0 0 —E8)+ E(8) 3 E(8) E8) 3 0 0 1 -1|1 -1 —-E4) E4) -E@8)3 —E(8) E(8)" 3 E(8)
O-x14+0-x24+0-x34+0-x44+0-x54+0-x6+0-x74+0-xs+1-x90+0-x10+0-x11 10 O 2 =2 0 0 0 0 0 0 1 1 1 1 -1 -1 —E(4) E(4) —E(4) E4)
0-x1+0-x24+0-x34+0-x44+0-x54+0-x6+0-x7+0-xs+1-x0+0-x10+0-x11 |10 O 2 =2 0 0 0 0 0 0 1 1 1 1 -1 -1 E(4) —E(4) E(4) —FE(4)
Group([()]) = 1
Group([(2,4,3)(5,8,7)(6,10,9)]) = C3
Group([(2,6,5)(3,9,7)(4,10,8),(2,10,7)(3,6,8)(4,9,5)]) 2 C3 x C3
Group([(2,3,4)(5,7,8)(6,9,10), (1,2)(3,5)(4,6)(7,8)(9,10)]) = A6 : C2
Group([(2,4,3)(5,8,7)(6,10,9), (2,10)(3,9)(4,6)(5,8), (3,4)(5,6)(7,10)(8,9)]) = (C3 x C3) : C2
Group([(2,6,5)(3,9,7)(4,10,8), (3,10,4,7)(5,8,6,9), (3,9, 10,5,4,8,7,6), (2,10, 7)(3,6,8)(4,9,5)]) = (C3 x C3) : C8




